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QUESTION 1

An architect is planning an HPE Moonshot System deployment. The architect plans to individually connect each iLO CM
module to the management network. The customer informs the architect that this plan requires too many 1GbE ports
per rack for the data center infrastructure. 

What is one way that the architect can alter the plan to meet the customer\\'s needs, while still allowing iLO access to
the HPE Moonshot Systems? 

A. Configure iLO traffic to share the same adapters as production traffic. Configure VLANs on the HPE Moonshot switch
modules to separate the two types of traffic. 

B. Keep one iLO CM Management port connected to the network. Use the iLO CM link ports on each iLO CM module to
daisy chain the chassis together. 

C. Enable the iLO REST API on each cartridge node. The nodes will then accept iLO commands on the adapters that
they use for production traffic. 

D. Add a second switch module and uplink module to each chassis to connect to the cartridge iLO ports. Stack the
modules in different chassis and connect just one to the management network. 

Correct Answer: D 

 

QUESTION 2

A cost-conscious customer needs a server upgrade to host a Citrix application virtualization solution. The solution must
meet the following requirements: 

-Support 1,200 simultaneous users 

-Scale out easily to accommodate 20 percent future growth 

-

 Provide optimum performance for applications such as Microsoft Office Suite, Skype for Business, and Adobe
Photoshop Which solution should the architect recommend? 

A. 

an HPE Moonshot System with m350 cartridges 

B. 

an HPE Integrity Superdome X System with BL920s Gen8 blades 

C. 

an HPE Moonshot Systems with m710 cartridges 

D. 

an HPE Integrity Superdome X System with BL920s Gen9 blades 
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Correct Answer: C 

 

QUESTION 3

A customer plans to develop scripts that use the REST API for HPE OneView. However, the customer is concerned
about the complexity of the scripts. Which tool can be used to adopt the HPE OneView REST API quicker? 

A. HPE SmartStart Scripting Toolkit 

B. HPE Operations Analytics for HPE OneView 

C. HPE Python library for HPE OneView 

D. HPE iLO4 using RedFish 

Correct Answer: B 

 

QUESTION 4

A customer has a large Oracle-based ERP solution that runs on HPUX and multiple rx2800 i2 servers. The customer
plans to move to an open source solution to reduce operating expenses. The customer needs the ability to deliver
incremental capacity and needs to avoid incremental Oracle licensing costs. Which HPE Server solution will help meet
the customer\\'s needs? 

A. HPE Apollo 6000 System 

B. HPE Superdome X 

C. HPE BladeSystem c7000 with BL460G Gen9 Servers 

D. HPE Apollo 4500 System 

Correct Answer: B 

Reference: https://www.hpe.com/h20195/v2/GetPDF.aspx/4AA6-5294ENN.pdf (page 5) 

 

QUESTION 5

HPE Moonshot 180G Switch Modules and HPE Moonshot 16-SFP+ Uplink ModulesA customer is planning to replace its
DAS-based third-party server solution with an HPE BladeSystem solution using FlexFabric connected to an iSCSI
based HPE StoreVirtual 3200. 

Which method should the architect recommend for migrating data from the old system to the new system? 

A. Use Peer Motion with a temporary 180-day license 

B. Use Business Copy software licensed to the current total size of all DAS storage 

C. Use Virtual Copy software 

D. Use a LAN-based file transfer method 
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Correct Answer: D 

HPE0-S22 VCE Dumps HPE0-S22 Practice Test HPE0-S22 Braindumps

Powered by TCPDF (www.tcpdf.org)

HPE0-S22 VCE Dumps | HPE0-S22 Practice Test | HPE0-S22 Braindumps                                4 / 4

https://www.geekcert.com/hpe0-s22.html
https://www.geekcert.com/hpe0-s22.html
https://www.geekcert.com/hpe0-s22.html
http://www.tcpdf.org
https://www.geekcert.com/hpe0-s22.html
https://www.geekcert.com/hpe0-s22.html
https://www.geekcert.com/hpe0-s22.html

